
State the hypotheses & select an alpha level

H0:  µA - µB = 0
H1:  µA - µB ≠ 0

For the population there is NO difference between 
the groups.

For the population there IS a difference between 
the groups.

Identify the critical region.  for the independent measures 
t statistic,  Degrees of freedom are determined by:

df = nA + nB - 2 = = df

Consult the t - distribution table for a One-tailed test with:

The critical t values are: t =  

Find the Pooled Variance
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Make a decision about H0 using the obtained t value...

If the Absolute Value of the obtained t value is more than the critical value, Reject the 
null hypothesis and conclude that There is a significant effect...

Compare the RED circle and the PURPLE circle.  Remove the negative/minus sign.  If the # in 
the red circle is bigger than the number in the Purple circle, then your sample means are 
significantly different and there is an effect.  If the purple circle is bigger than the red 
circle, then there is no effect!

α = .05
 

  nA      nB 

Find the estimated standard error

Compute the test statistic...
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Sample A Sample B
nA = 

ΣX = ΣX² = 

XA= ΣX 
n 

=

SSA= ΣX² 
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n 

SSA = 

s2= 
SSA 

n - 1 
=

s2= =

sA
  = =s2 

XA= 
Find the mean for each sample

Find the Sum of Squares (SS)

FInd the Standard Deviation (SD)

¡Round to the Thousandths place!
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=  SSA 
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nB = 

ΣX = ΣX² = 

XB= ΣX 
n 

=

SSB= ΣX² 
 
 

(ΣX)² 
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SSB = 

s2= 
SSB 

n - 1 
=

s2= =

sB
  = =s2 

XB= 
Find the mean for each sample

Find the Sum of Squares (SS)

FInd the Standard Deviation (SD)

¡Round to the Thousandths place!
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SSB 

)² 

=  SSB 

=  SSB 
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